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Aptitude & Mental Ability Set 1

1. A train 130m long is moving at a speed of 65 km per hour. How long it will take to pass
an electric pole
a. 7.2 seconds b. 6.8 seconds c. 8.9 seconds d. 6.3 seconds
130 S BempenLw e e(hd @ruiledlest Geussid, ewsila g, 65 &.15. eTesflev, 6(h Wl6tTEMy

SOUSSH 6060 HL58 15 6105815 C&meTEnn GBI wng)?

3. 7.2 ellevtmgseit 4. 6.8 eflevtmig g6l
8. 8.9 allestmgse6it . 6.3 allestmp s6iT
Solution

Speed of the train = 65 km/h
65%x1000
60+ 60

Speed of the train = 18.05 m/s
Length of the train =130 m
Hence, to pass an electric pole, the train needs to cover 130 m.

distance

Converting km/hr tom/s = (1km =1000m and lhr = 3600 sec)

Time =
speed

. 130
Time taken = —
18.05

Time taken = 7.2 seconds.
Hence, the time taken by the train to pass an electric pole is 7.2 seconds.

2. In an examination out of 480 students, 85% of the girls and 70% of the boys are passed.
How many boys appeared in the examination, if total percentage was 75%
a. 320 b. 340 c. 360 d. 370
480 Cu(ps® BPL&SLILLL Caiailsy Guestoiaerfley 85%(pwb, pesotssrtisv 70% (b Ca s
Qumert. @BUTev(HL C&i58 75% CaiEd) Quibm Hlensvuilsd Esieay 61wl GLNss
24,6551861fl63T 6T6TBTETD 1 E6008 6T6UGUETEY?

31. 320 . 340 9. 360 rr. 370

Solution

Total number of students = 480

percentage of total students passed = 75% of total student
= (75 x 480)/100 = 360 students

Let the number of boys be X
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Then, 70% of X + 85% of (480 - X) = 360

[(70 x X)/100] + [85 x (480 - X)]/100 = 360

70X — 85X + 40800 = 36000

40800 - 36000 = 85X — 70X

4800 = 15X

X =4800/15 = 320

There are 320 boys who appeared for the examination.

Alternate method using mixture and allegation
Girls =85% Boys=70%
Total pass =75%

85% 70%

\./

75%

5% 10%
(75-70) (85-75)

3. The sum of two numbers is 216 and their H.C.F. is 27. The numbers are

a. 27,189 b. 81,189 c. 108,108 d. 154, 162
B erssuTS6rl 68T S (DS60 216 WHMID HH6sT 5. QLIT.6u. 27 6Tevfled, b eTevoTS6IT
1. 27,189 <. 21,189 ©.108,108 rr. 154, 162
Solution

27x and 27y

are the numbers... which means...
(27x+27y)=216
27 (x +y) = 216
(x+y)= (216/27)
X+Y)=8
Hence, the possible pairs of x and y are (1,7) (2,6) (3,5) (4,4) since they all give 8.
(2,6) and (4,4) are out as they are not co-prime and that will change the HCF. The
answer lies in the remaining pairs.
(27,189) is the answer
if we tried another pair (3,5) we will get (81, 135)
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4. Find the compound interest on Rs. 8,000 at 15% per annum for 2 years 4 months,
compounded annually.
a. 3110 b. 3109 c. 3106 d. 3108

¢r5.8000 &8 aysv0TieM (& 15% aul'le efl&lesH 560 2 4 6vs1(H LHMID 4 GSS DT ol (h
6UL_l96BILLI S5T6D0TS.

<. 3110 33 3109 ®. 3106 rr. 3108

Solution

Given

P = 8000

R=15

T = 2 years 4 months = 2 ( % months) = 2(1/3)

Amount=P(1+i)t
100

= 8000 (1+-2 %
100
=8000 (1+=)2 (1+—=)

20%3

= 8000 * E * E * E

20 20 20
= RS 11109
Compound interest = (A — P) = (1110 — 8000) = Rs. 3109
Alternate Method
Principal amount = 8000
Interest for first year = 15% of 8000 = 1200
So new principal after 1 st year = 8000+1200 = 9200
Interest for second year = 15% of 9200 = 1380
So new principal after 2 nd year = 9200+1380 = 10580
interest for 4 months(1/3 years) = 5% of 10580 = 529
So interest after 2 years 4 months = 1200+1380+529 = Rs.3109

5. Find out the wrong number in the series
190, 166, 145, 128, 112, 100, 91

a. 100 b. 166 c. 145 d. 128
Qanh&sLIUL(DsiTem QBHTLIfl6L DHEMLOHES HEUMITENT 6T65TE0I6EE018 ST6ToTE.
21.100 . 166 8. 145 rr. 128
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Solution

190 - 166 =24

166 — 145 =21

145 -128 =17

128 - 112 =16

112 - 100 =12

100-91=9

All the difference is 3 except for 128

If 128 is replaced with 127 all the difference will become as 3

6. A can do a piece of work in 10 days. B can do it in 15 days. How much does each of
them get if they finish the work and earn Rs. 1,500?
a.Rs. 700, Rs. 800 b. Rs. 500, Rs. 1,000
c. Rs. 600, Rs. 900 d. Rs. 800, Rs. 700
A & CGeusmevemw 10 L serflevid, B iems 15 mrLseiflevin, Q&g (pipliur. §meu(HLn
Gaimgl SieuGauenevenwd Qg em. 1,50083 FFLig6vTTen, HSHGSTensemw eteueumm) Lfls g

O &meiTeury?

3. ep. 700, em. 800 3. ep. 500, erp. 1,000
9. em. 600, er. 900 . em. 800, emp. 700
Solution

1
A’s one day work= T

B's one day work = 1—15

1 1
(A+B)'s one day work = T
_15+10 _ 25 _ 1

Ratio of(A+B)'s one day work = 3 :2

Amount they earn together = Rs.1500
1500

A’s share = Tx?’: Rs.900

1500

B’s Share = sz = Rs. 600

7. H.C.F. of two numbers is 8. Which one of the following can never be their L.C.M.?
a.24 b. 48 c. 56 d. 60
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@\ etestTSEil6tT L5.QILIM.6U. 8 6T6vfl6b SLP&HBHEBITLUDMIET 618 DB 6TevsilB6rfl6sT L5.CLIT.LD. 45

(M5 Quieong)?
3. 24 . 48 Q. 56 r-. 60
Solution

HCF of two numbers divides their LCM exactly
So 8 is not a factor of 60

8. TheHCF.of24x32x53x7,22x3%x5%2x72and3x5x7x1lis

a. 105 b. 1155 c. 2013 d. 27720
24x32x5%x7,22x3x52x 72 womb 3 x 5 x 7 x 11-651 SLIQUI(H oLy
1. 105 4. 1155 ®. 2310 . 27720
Solution

HCF. of24*32*53*7 23%x33*52%72gnd3*5*7*11is3*5*7 =105

9. The smallest fraction which should be subtracted from the sum of
1%, 2%, 5 % 3§ and Zi to make the result a whole number is

5 1
a.— b. = c. = d. 7
12 12 2

1%, 2%, 5 1—72 3§ LDMHM)LD 2% eteoTm Lilsttevtraigerlett el (HH0OSMemS 62(Th (P(L 6T630T6T0TTE:E
HlenL s 61hg BlaFFrlw Uesteoisens s s1l68 Gouesst(HLD?

5 7 1

Solution
12,2-,5=,3- and 27 =7/4+5/2+ 67/12+10 + 9/4 = (21 + 30 + 67 + 40 + 27/12) = 185/12

This is nearly greater than 15. Let required fraction be x.
Then, 185/12 - x =15

x = (185/12) - 15

=5/12

10. If X% of y is equal to z, Then what percent of z is x?

2 2
100 100

L L c. 1 4.2

100 100 y y
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y-65T X% F&H6UHLOMeTIS| Z8 (& FLOLD 61651160 X 6T60TLIZ| Z-60 615HSHeM60T FHEIGHLD?

bl y 100 100?
3. 100 b 1002 8. y T y
Solution

X% of Y equals Z means
(X/100) *Y = Z
Which further can be written as
X =(100/Y)*Z
Which means
((100/Y)* 100) % of Z
=10000/Y percentage of Z
1002

So X is 10000/Y percent of Z = —

Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 24
minutes. If the tank is empty and all the three taps are kept open, in how much time

the tank will be filled?
a.1lhour b. 2 hour c. 3 hour

d. 4 hour

(B QsMLipulled @b GLMisET elldgHestCw wenmGu 30 KBl rissei, 40 KISl riserfley

BTty mgl. wH@mmm @mi BF Hirovllw Qsrliyenw 24 Bl rgeflev smel Qauwiuw.

QMg smedlwng QHHS EsTmI (GLMUSEH G FLWSS 6 Smbg allLLiLLLmey,

6155 6m60T L6evotl GBS Sl6v HIFDLD?

3. 1 wevofl Sb- 2 et 8- 3 weudl
Solution

(1/30) + (1/40) — (1/24) = =22

L.CM =120

443-5 _1_ 1
120t 60

If x:y=5:2thenfind 8x+9y:8x+2y

a.22:29 b. 26: 61 C.29:22
X:y=5:2emerllv 8x +9y:8X + 2y-08 smevr
. 22:29 . 26161 .29:22
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13.

14.

Solution
(8x5+9x%2):(8x5+2x2)
(40+18):(40+4)
58:44 =29 :22

If §=§= gthenfindA:B:C

a.4:3:5 b.5:4:3 c.3:4:5 d.20:15:2
§=§= ge're‘dﬂsi)A:B:Caarreo‘maa.

H.4:3:5 2. 5:4:3 . 3:4:5 /. 20:15:2
Solution

let, %:%: g =k [where k is a constant]

then, A= 3k, B= 4k, C=5k
A:B:C = 3k:4k:5k = 3:4:5

The sum of the numbers is 45. Their difference is 1/9 of their sum. Their L.C.M. is
a. 100 b. 150 c. 200 d. 250

B eTevvTHR6l68T Fol (50 SHTen s 45. Sisuail(h erevvraertstr GeumiLim(y Sieubilest ol (H&
Qanensuilest 1/9 L EISMEGLD eTesflev Heuail(y stesorsertlsor &S M oS
31.100 <5 150 8.200 rr. 250

Solution:

Let the two numbers be x, y.
x+y=45--->EQL

X -y =1/9(45)
Xx-y=5--->EQ2.

Solve the two equations.

2x =50

x=25

Put x = 25 in EQL.

25+y =45

y =20

So, the two numbers are 20, 25 and their LCM is 100.
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15.

16.

17.

If x% of a is the same as y% of b, then find z% of b
a.%%ofa b.%%ofa c.xy—z%ofa

a-etT X% et6o1LIG| b-60T Y% (&& &L 6T6vfl6v b — 60T 2% SmMevor

Xy . yz . XZ .
. —%era b Yoeora @.;%ma

Solution

X
=a*_=b*L
100 100

Xa=yb

_b_ﬁ
y

Put the value of b in eqn
Z%ofb=z%of§=?%ofa

Solve 14 x 627 + V1089 = (?)3 + 141

a.5v5 b. (125)° c. 25
768 14 X 627 + /1089 = ()% + 141

=1 5V5 <. (125)° @. 25
Solution

14 X 627 + V1089 = (x) + 141

== (0% + 141

B - (%)% + 141

266= (x)° + 141

(x)% =125

X =3125

X=5

Prepared By www.winmeen.com

d. none of these

6186 LBl606m6v

d.5

What will be the remainder when (67%7 + 67) is divisible by 68.

a.l b. 63 c. 66 d. 67

(6757 +67) op6v18) 68 460 6UGHUL L6V LG 6T65TE0T?
.1 . 63 D. 66 . 67
Solution
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18.

19.

(x" +1) is divisible by (x + 1) only when n is odd

(67%7 +1) is divisible by 68

(67°7 +1)A is divisible by 68 gives a reminder of 0

[(67°7 +1)+ 66 1A is divisible by 68 gives a reminder of 66
(67°7 +67) A 68 gives a reminder of 66

The greatest number which can divide which can divide 1354, 1866 and 2762 leaving
the same remainder 10 in each case, is

a. 64 b.124 c. 156 d. 260

1354, 1866 wmmib 2762 pHw sTesorgenst LG 10 SlemL & (&Lomm) 66ubleunsstmiD 6u(Ea(&LW0
BT 6T6sDT

31. 64 . 124 . 156 . 260

Solution

Subtracting 10 from each of the gievn numbers.

1354 -10=1344

1866 - 10 = 1856

2762 - 10 = 2752

Prime factorisation 0f 1344 =2x2x2x2x2x2x3x7
Prime factorisation of 1856 =2 x2x2x2x 2 x 2 x 29
Prime factorisation of 2752 =2x2x2x2x 2x 2 x 43.
HCF 0f 1344 ,1856 and 2752 =2x2x2x2x 2 x 2 = 64.
The greatest number which can divide 1354 , 1866 and 2762 leaving remainder 10 in
each case is 64.

Area of a triangle is

a. base x height b. %2 x base x height

c. 2 x base x height d. %2 (base + height)
(P&CamevosSHletT LIFLILIeTEY

Sl SlplILSSD X 2 WD Sp. X SIQULSSD X 2. WhD
8. 2 X Sl ILGSLD X 2 WD . V2 (S{plILS&W + 2 W)
Solution

From the formula area of triangle is % x base x height
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20.From the solid cube having side of 20 cm, how many number of small cubes having
side 5 cm can be formed?
a. 46 b. 64 c. 56 d. 48

20015 &8 66y Q&ML S S6vT F&IIT 2 (HeuSHSH 68l (BHG), 615H6m6rT 5 QI&.15. LIS 31616y
Q&mesoTL &M S H65T F&ITTRISHEN6I 2 (IHEUTSSHE0MD?

. 46 34 64 . 56 . 48

Solution

Edge of cube =20 cm

Volume of cube = a3

volume of cube = 20x20x20

volume of each small cube = 5x5x5
number of cubes= (20x20x20)/(5x5x5) =64

21. Volume of thecube=___________ cubic units.
a. a2 b.V2a2 c. 3a d. ad
&60T FG|15 S\ 60T H6vT D66y = ______ SH6T 60556
3. &b V222 8. 3a° . a3
Solution

Volume of cube = a3 cubic units
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